Sr Questions Answers Choice

A. It increases upfront infrastructure
costs.
B. It is more expensive than
traditional on premises solutions

1 What is the primary benefit of cloud computing in terms of cost? C. It reduces upfront infrastructure
costs and allows pay as you go
pricing
D. It eliminates the need for data
backup

A. Local Storage

. Standalone operation
. Manual backups

. Remote access

2 What is the key feature of cloud computing?

o0w

Overflow

. Innovation
Overtake
None of these

3 e means creating something new?

Overflow
Overtake
Undertake
None of these

4 The word "entrepreneur" comes from a French word which means....... ?

English
Spancish
French

None of these

5 The word "entrepreneur” comes from a...........c.cc...... word.

SDG

Design
Entrepreneurship
All of these

6 - is process of starting a new busiess or organization.

Gender Equality

Clean Water and Sanitation
. Poverty Reduction

. Energy Efficiency

7 Which of the following is NOT one of the sustainable Developmetn Goals (SDGs)?

. Flexibility and scalability

. Dependency on physical

8 Which of the following is a key advantage of digital entrepreneurship infrastructure
C. Limited reach and market access
D. Higher barriers to entry
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A. Reliane on off

B. Dependence on tradiational
marketing strategies

C. Utilizatio of technology and online
platforms

D. Emphasis on Physical Store fronts

9 What is a characteristics of entrepresnurship in the digital age.



